TR 29 EEREEDHEOREICONT
fiE] LUK 2

[OFffiEfER (75 7) |

0 50 100 150 200

2 SUERHERTERE CCFR)
HESUERFAIER GEFR)
2SR EIRTER (B F5R)

IEBHTFERE
BAEZER - BEEEMREL 7 —
HARHERZER (BR)

HARHAIZER (T55%)

BRFEMBIERIZER (RER)
BREAEMA IR (BREE THR)

EH IR AR (5% - ERER)
SR AT ER (E55R - BRIRR) Rbia e
R IR TR (5% - ZERER)
SR AT ER (5% - BRIRR) RbiE e
R IR AT ERE (FRF5R)

PRAE=RIFTER

BIRRE BRI SERT

AR R FERT

o7 B FERER TSR T

B —ih

Z

mHEE miEEER miEE mBiE mBhE

1/7



| OMHERI DR A FFMIRE R A% |

[#aARTm AL vE]
4 FRIZERLTWS 3 ERTWAD 2 ) 1 :BEHD

m4
w2
m]

e ——

B+

0 50 100 150 200 250 300 350 400 450

2117




O &3 R ORFNR (A5 |

[ G Rl HL7E )
4 FrZERTVD 3 fERLTWVD 2 ) 1 :MEHY
600
500
400
LR
m LR
300 w EERT
CRHES
200 = hF
100
0
4 3 2 1

3/17



| OWRER! o Sk F MR . (%0 |

[ AR B AR 2 7 ]
3 KA ER > TS

2 KHEIZEL TWVWD 1 SR T 5

Hiz

HEZP

A

Bh#

BhF

HE

l

100 150 200 250 300 350 400

450

m3
m2

=]

4/17




3 : K¥#EEZ EE-> TV A

2 KHEIZEL TWVWD 1 WEAESD

HEZ

]

Ik

BhF

W5

|

O

50 100 150 200 250 300 350 400

450

m3
m2

m1

5/17




3 : K¥#EEZ EE-> TV A

2 KHEIZEL TWVWD 1 SEEZ T 5

=N

iz

HEH=

il

Bh#

By F

|

)

50 100 150 200 250 300 350 400

450

m3
m2

=]

6/17




3 : K¥#EEZ A>TV D

2 KHEIZEL TWVWD 1 WEAESD

Hfz

iR

a il

Bh#

BhF

O

50 100 150 200 250 300 350 400

450

m3
m2

=1

7117




